Giling Computer Applications

ServoSet

Bill of materials

Qty Part Description

1 pc-board Servoset

1 Fastener M3 x 15 Countersink
1 Locknut M3

3 Fastener M2 x 6 cylinder head
1 nut M2

2 Fastener M2 x 8 Countersink
2 Washer M2

2 Nut M3

2 Spacer M2 x 15

1 Spacer M2.2 x 2

1 Washer M3

1 Springwire 10 cm

1 Servo motor



